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QUESTION 1

According to WS-I Basic Profile (BP), which of the following encodings should be used to ensure interoperability? 

A. rpc/literal 

B. rpc/encoded 

C. doc/literal 

D. doc/encoded 

Correct Answer: AC 

 

QUESTION 2

A developer wants to automate their build process for testing, and would like to import a policy set, x.zip. 

Which of the following wsadmin tasks correctly identifies the syntax the developer would use? 

A. AdminTask.importPolicySet(\\'[-file /tmp/x.zip]\\') 

B. AdminTask.policySetImport(\\'[-file /tmp/x.zip]\\') 

C. AdminTask.importPolicySet(\\'[-import File /tmp/x.zip]\\') 

D. AdminTask.policySetImport(\\'[-import File /tmp/x.zip]\\') 

Correct Answer: C 

 

 

QUESTION 3

For a Web service request passing through multiple SOAP intermediaries, how would end- to-end security be
provided? 

A. SSL 

B. Mutual Authentication 

C. WS-Security standards 

D. HTTP Basic Authentication 

Correct Answer: C 

 

QUESTION 4

Latest C2180-371 Dumps | C2180-371 Practice Test | C2180-371 Exam Questions                                2 / 8

https://www.passapply.com/C2180-371.html
https://www.passapply.com/C2180-371.html
https://www.passapply.com/C2180-371.html


https://www.passapply.com/C2180-371.html
2021 Latest passapply C2180-371 PDF and VCE dumps Download

Developer is designing a Web service. The message will contain sensitive data which must only be processed by the
final destination. The SOAP message will be routed through an external organization Enterprise Service Bus (ESB) to
reach its final destination. 

What level of security is required? 

A. Federated Trust 

B. Message-level security 

C. Transport-level security 

D. Secure Socket Layer (SSL) 

Correct Answer: B 

 

 

QUESTION 5

Which of the following scenarios can be BEST monitored using TCP/IP Monitor? 

A. SOAP/JMS 

B. WS-Coordination messages 

C. synchronous message exchange pattern over HTTP 

D. synchronous message exchange pattern over HTTPS/SSL 

Correct Answer: C 

 

QUESTION 6

JAX-WS is the successor to JAX-RPC. Which of the following are reasons why a developer may chose to migrate from
JAX-RPC to JAXWS in IBM Web Sphere Application Server V7.0? 

A. JAX-RPC is deprecated in Java EE 5. All Web services within a Java EE 5 module need to be JAX-WS-based Web
services. 

B. A JAX-RPC service is returning attachments to clients and many of the new clients will be Microsoft .NET clients. 

C. A JAX-RPC developed Web service would like to leverage WS-ReliableMessagingin order to ensure reliable and
interoperable Web services. 

D. A JAX-RPC developer wants to expose a service defined as WSDL 2.0 in order to upgrade to the next level of Web
services specifications. 

E. A JAX-RPC Web service needs to take advantage of WS-Addressing and needs to return a endpoint reference
pointing to another Web service. 

F. A JAX-RPC Web service developer wants to schema validate a message using JAXB by using a JAX-WS provider
combined with JAXB. 
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Correct Answer: BCF 

 

QUESTION 7

A developer uses wsimport to generate Web service client artifacts. What will the wsdllocation attribute do? 

A. It will specify the WSDL location in the generated artifacts. 

B. It will specify the location of the WSDL from which to generate the Web service client artifacts 

C. It will specify the relative location of the WSDL file from which to generate the Web service client artifacts 

D. It will ensure that the WSDL is packaged appropriately in the EAR file. 

Correct Answer: A 

 

QUESTION 8

Which of the following are ways to add or customize an HTTP header to a Web service request in IBM Web Sphere
Application ServerV7.0. 

A. Specify the values to be set on a policy set and attach the policy set to the client reference 

B. Use a JAX-WS Logical Handler and get/set the HTTP headers from the JAXWSMessageContext 

C. Use a JAX-WS Protocol Handler and get/set the HTTP headers from the JAX-WS Message Context 

D. Create a Hash Map containing the transport headers and set the Hash Map on theJAX- WS Service under a property
named REQUEST_TRANSPORT_PROPERTIES 

E. Create a Hash Map containing the transport headers and set the Hash Map on the JAX- WS Binding Provider under
a property namedREQUEST_TRANSPORT_PROPERTIES 

Correct Answer: CE 

 

QUESTION 9

Select the scenario where the specification WS-Make Connection should be used. 

A. To return responses back on a separate connection in a request and response flow. For example, enabling WS-
Addressing to specify a new address to deliver a response. 

B. To establish a connection for out-of-band communication with 3rd endpoint. For example, in using WS-Secure
Conversation with another business endpoint, a token can be obtained from a 3rd party provider. 

C. To tunnel through a firewall and establish a back channel for messages to be sent to a previously un-addressable
endpoint. For example, with WS- ReliableMessagingreestablishing a connection through a firewall for
acknowledgements. 

D. To create a separate connection to an endpoint to gain metadata about an endpoint prior to the initial request. For
example, creating a connection to a separate endpoint to retrieve WSPolicy information about how to establish
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connectivity to a web services endpoint. 

Correct Answer: C 

 

QUESTION 10

Refer to the exhibit. Weather? Web service is configured under the WeatherBeanWeb context. From the diagram in the
exhibit, what is the correct URI for TCP/IP Monitor to work? 

A. http://localhost/WeatherBeanWeb/services/Weather 

B. http://localhost:9083/WeatherBean/services/Weather 

C. http://localhost:9090/WeatherBean/services/Weather 

D. http://localhost:9083/WeatherBeanWeb/services/Weather 

E. http://localhost:9090/WeatherBeanWeb/services/Weather 

Correct Answer: D 

 

QUESTION 11

JSR109 defines the life cycle of a Service Implementation Bean in the Web container. 

Which sequence of statements below is TRUE? 

A. 1. The Web container calls the method annotated with javax.annotation.PostConstruct annotation. 

2.
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 The web container creates a new instance of the Service Implementation Bean. 

3.

 The web container may pool method ready instances of a Service Implementation Bean and dispatch a method request
on any instance in a method ready state. 

4.

 For the web container with JAX-WS runtime, the method annotated javax. annotation. 

Pre Destroy is called. 

B. 1. The web container creates a new instance of the Service Implementation Bean. 

2.

 For web containers with JAX-WS runtime, the container calls the method annotate with javax.annotation.PostConstruct
annotation. 

3.

 The web container may pool method ready instances of a Service Implementation Bean and dispatch a method request
on any instance in a method ready state. 

4.

 For the web container with JAX-WS runtime, the method annotated with javax. 

annotation. PreDestroy is called. 

C. 1. The web container creates a new instance of the Service Implementation Bean. 

2.

 For web containers with JAX-WS runtime, the container calls the method annotated with
javax.annotation.PostConstruct annotation. 

3.

 The web container may pool method ready instances of a Service Implementation Bean and dispatch a method request
on any instance in a method ready state. 

4.

 For the web container with JAX-WS runtime, the method annotated with javax. 

annotation. PrePassivate. is called. 

D. 1. The Web container calls the method annotated with javax.annotation.PostActivate annotation. 

2.

 The container creates a new instance of the Service Implementation Bean. 

3.
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 The web container may pool method ready instances of a Service Implementation Bean and dispatch a method request
on any instance in a method ready state. 

4.

 For the web container with JAX-WS runtime, the method annotated with javax. 

annotation. PrePassivate is called. 

Correct Answer: B 

 

 

QUESTION 12

A developer is using the Web container programming model as per JSR109. 

Which statement regarding the Service Implementation Bean is true? 

A. The class can be final 

B. The class must define finalize() method 

C. The class must have a default public constructor 

D. The class can save client specific state across method calls using instance variables 

Correct Answer: C 
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